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QUESTION 1

A supply request has been received in supply chain orchestration. Both organizations belong to the same legal entity
and they do not have a buy-sell relationship between them. Which type of execution document can fulfill the supply
request? 

A. Sales Order 

B. Purchase Requisitions 

C. Purchase Order 

D. Transfer Order 

Correct Answer: D 

 

QUESTION 2

Which three applications originate a buy request that is received by supply chain orchestration? 

A. Planning 

B. Inventory 

C. Accounts Payable 

D. Order Management 

E. Self Service Procurement 

F. Purchasing 

Correct Answer: ABD 

 

QUESTION 3

A user is performing a material return transaction against excess stock in an Inventory organization; 

however, the user fails to select the Physical Material Return Required check box. 

What happens? 

A. A transfer order line remains open 

B. Shipment lines are created 

C. Stock is reserved 

D. It is considered as accounting-only return 

Correct Answer: D 
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QUESTION 4

Identify three statements that are true about reservations in back-to-back processing. 

A. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain
Orchestration work area. 

B. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand
inventory. 

C. Reservations cannot be created for back-to-back On Hand supply orders. 

D. Partial fulfillment of reservations is supported. 

E. One reservation is created for a demand and supply. 

Correct Answer: ABE 

 

QUESTION 5

Your client has just set up their chart of accounts. They are now designing the organization hierarchy in 

the system. 

Which three structures should the customer use to do this? 

A. Divisions, Business Units, and Departments 

B. Cost type, Default Cost Structure, and Item Organization 

C. Warehouse, Subinventory, and Locators 

D. Cost Centers, Organizations, and Locations 

Correct Answer: A 
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